

NAME: OTOKO JEMIMAH AWAJINOMBEEK

MATRIC NO: 151EN4051028

DEPARTMENT: CIVIL ENGINEERING

DATE: 23rd NOV 2019

$$1 \frac{dy}{dt} + 3y = e^{-2t}$$

$$y' + 3y = e^{-2t}$$

$$L[y' + 3y] = L[y'(s) - y(0)] = \frac{1}{s+2}$$

$$L[y'(s) - y(0)] = \frac{1}{s+2}$$

$$L[e^{-2t}] = \frac{1}{s+2}$$

$$s y(s) - y(0) + 3y(s) = \frac{1}{s+2}$$

$$y(s)(s+3) - y(0) = \frac{1}{s+2}$$

$$y(s)(s+3-2) = \frac{1}{s+2}$$

$$y(s)(s+3) = \frac{1}{s+2} + \frac{2}{1}$$

$$y(s)(s+3)$$

$$y(s)(s+3) = \frac{1+2(s+2)}{s+2} = \frac{1+2s+4}{s+2} = \frac{2s+5}{s+2}$$

$$y(s) = \frac{2s+5}{s+2} \times \frac{1}{s+3} = \frac{2s+5}{(s+2)(s+3)}$$

$$\frac{2s+5}{(s+2)(s+3)} = \frac{A}{s+2} + \frac{B}{s+3}$$

$$\frac{2s+5}{(s+2)(s+3)} = \frac{A(s+3) + B(s+2)}{(s+2)(s+3)}$$

$$2s+5 = A(s+3) + B(s+2)$$

$$\text{at } s = -3$$

$$2(-3)+5 = A(-3+3) + B(-3+2)$$

$$-6+5 = -B$$

$$-1 = -B$$

$$B = 1, \text{ at } s = -2$$

$$2(-2) + 5 = A(-2+3) + B(-2+2)$$

$$-4 + 5 = A \quad / \quad A = 1$$

$$\frac{2s+5}{(s+2)(s+3)} = \frac{1}{s+2} + \frac{1}{s+3}$$

$$L^{-1} \left[\frac{1}{s+2} + \frac{1}{s+3} \right]$$

$$= e^{-2t} + e^{-3t}$$

2. $3 \frac{dy}{dt} - 6y = \sin 2t$

$$3y' + 6y = \sin 2t$$

$$L[y'(t)] = sy(s) - y(0)$$

$$L[y(t)] = y(s)$$

$$L[\sin 2t] = \frac{2}{s^2 + 2^2}$$

$$3(sy(s) - y(0)) - 6y(s) = \frac{2}{s^2 + 2^2}$$

$$= (3s - 6)y(s) - 3 = \frac{2}{s^2 + 4}$$

$$(3s - 6)y(s) + 3 = \frac{2}{s^2 + 4} + 3 = \frac{2}{(s+2)^2} + \frac{3}{1} = \frac{2 + 3(s+2)^2}{(s+2)^2}$$

$$y(s) = \frac{2 + 3(s+2)^2}{(s+2)^2} \times \frac{1}{(3s-6)}$$

$$= \frac{2 + 3(s+2)^2}{(s+2)^2 (3s-6)} = \frac{A}{s+2} + \frac{B}{(s+2)^2} + \frac{C}{3s-6}$$

$$2 + 3(s+2)^2 = A(s+2)(3s-6) + B(3s-6) + C(s+2)^2$$

at $s = 2$

$$3(2)^2 + 12(2) + 14 = A(-2+2)(3(2)-6) + B(3(2)-6) + C(-2+2)^2$$

$$12 - 24 + 14 = -12B$$

$$2 = -12B, \quad B = -\frac{1}{6}$$

$$3s^2 + 12s + 14 = A(3s^2 - 12) + B(3s - 6) + C(s^2 + 4s + 4)$$

$$= 3A + C = 3$$

$$3B + 4C = 12$$

$$-12A - 6B + 4C = 14$$

$$3A + C = 3$$

$$A = \frac{3 - C}{3}$$

$$-12A - 6B + 4C = 14$$

$$-12\left(\frac{3-C}{3}\right) - 6B + 4C = 14$$

$$-12 + 4C + 6B + 4C = 14$$

$$-6B + 8C = 26$$

$$-6\left(\frac{1}{6}\right) + 8C = 26$$

$$8C = 26 - 1$$

$$C = \frac{25}{8}$$

$$A = \frac{3 - 25/8}{3} = \frac{-1/8}{3} = \frac{-1}{24}$$

$$= \frac{-1/24}{s+2} + \frac{1/6}{(s+2)^2} + \frac{25/8}{3s-6}$$

$$= -\frac{1}{24} \left[\frac{1}{s+2} \right] + \frac{1}{6} \left[\frac{1}{(s+2)^2} \right] + \frac{25}{8} \left[\frac{1}{3(s+2)} \right]$$

$$= \mathcal{L}^{-1} \left[-\frac{1}{24} \left[\frac{1}{s+2} \right] - \frac{1}{6} \left[\frac{1}{(s+2)^2} \right] + \frac{25}{24} \left[\frac{1}{s-2} \right] \right]$$

$$\frac{-1}{24} e^{-2t} - \frac{1}{6} t e^{-2t} + \frac{25}{24} e^{2t}$$

3 $\frac{dy}{dt} - 4y = 8$ at $t=0, y=2$

$$L[y'] = s + ct) y(0)$$

$$L(y) = Y(s)$$

$$L[8] = \frac{8}{s}$$

$$s Y(s) - y_0 - 4Y(s) = \frac{8}{s}$$

$$= (s-4) Y(s) - y(0) = \frac{8}{s}$$

$$(s-4) Y(s) - 2 = \frac{8}{s}$$

$$(s-4) Y(s) = \frac{8}{s} + 2$$

$$Y(s) = \frac{8+2s}{s} \times \frac{1}{s-4}$$

$$= \frac{8+2s}{s(s-4)} = \frac{A}{s} + \frac{B}{s-4}$$

$$8+2s = A(s-4) + Bs$$

at $s=4$

$$8+2(4) = A(4-4) + 4B$$

$$16 = 4B, B=4$$

at $s=0$

$$8+2(0) = A(0-4) + B(0)$$

$$8 = -4A, A = -2$$

$$\frac{-2}{s} + \frac{4}{s-4}$$

$$L^{-1} \left[\frac{-2}{s} \right] + L^{-1} \left[\frac{4}{s-4} \right]$$

$$= -2 + 4e^{4t}$$

$$4 \frac{d^2y}{dt^2} - 3 \frac{dy}{dt} + 5y = e^{-2t}$$

$$\text{at } t=0 \quad y=2 \quad y'=1$$

$$y'' - 3y' + 5y = e^{-2t}$$

$$L(y''(t)) = s^2 Y(s) - s y(0) - y'(0) \quad L(e^{-2t}) = \frac{1}{s+2}$$

$$L(y'(t)) = s Y(s) - y(0)$$

$$s^2 Y(s) - s y(0) - y'(0) - 2(s y(0) - y(0)) + 5 Y(s) = \frac{1}{s+2}$$

$$(s^2 - 2s + 5) Y(s) - s y(0) - y'(0) + 2y(0) + 5 Y(s) = \frac{1}{s+2}$$

$$(s^2 - 2s + 5) Y(s) - 2s - 1 + 4 = \frac{1}{s+2}$$

$$(s^2 - 2s + 5) Y(s) - 2s + 3 = \frac{1}{s+2}$$

$$(s^2 - 2s + 5) Y(s) = \frac{1}{s+2} + 2s - 3$$

$$(s^2 - 2s + 5) Y(s) = \frac{1}{s+2} + \frac{2s-3}{1}$$

$$(s^2 - 2s + 5) Y(s) = \frac{1 + 2s(s+2) - 3(s+2)}{s+2}$$

$$(s^2 - 2s + 5) Y(s) = \frac{1 + 2s^2 - 4s - 3s + 6}{s+2} = \frac{2s^2 - 7s + 7}{s+2}$$

$$Y(s) = \frac{2s^2 - 7s + 7}{(s+2)(s^2 - 2s + 5)} = \frac{A}{s+2} + \frac{B}{s^2 - 2} + \frac{C}{s+5}$$

$$\frac{2s^2 - 7s + 7}{(s+2)(s^2 - 2s + 5)} = \frac{A(s^2 - 2s + 5) + Bs + C(s+2)}{(s+2)(s^2 - 2s + 5)}$$

$$2s^2 - 7s + 7 = A(s^2 - 2s + 5) + (Bs + 2)(s+2)$$

$$2s^2 - 7s + 7 = As^2 - 2As + 5A + Bs^2 - 2Bs + 2C - 2C$$

$$A + B = 2 \dots (1)$$

$$-2A - 2B + C = -7 \dots (2)$$

$$5A - 2C = 7 \dots (3)$$

$$\text{at } s = 2$$

$$2(s)^2 - 7(2) + 7 = A(2^2 - 2(2) + 5)$$

$$2 = 4 + 7 = 5A$$

$$1 = 5A$$

$$A = \frac{1}{5}$$

From (1)

$$A + B = 2$$

$$B = 2 - \frac{1}{5}$$

$$\frac{10 - 1}{5} = \frac{9}{5}$$

$$5A - 2C = 7$$

$$5\left(\frac{1}{5}\right) - 2C = 7$$

$$1 - 2C = 7$$

$$-2C = 6$$

$$C = -3$$

$$= \frac{1}{5} + \frac{9/5 s - 3}{s^2 - 2s + 5}$$

$$= \frac{1}{5} + \frac{9}{5s} - \frac{3}{s^2 - 2s + 5}$$

$$\frac{1}{5} + \frac{9}{5} \left(\frac{s-1+i}{(s-1)^2 + 2} \right) - \frac{3}{2} \left(\frac{2}{(s-1)^2 + 2} \right)$$

$$= L^{-1} \left[\frac{1/5}{s-2} + \frac{9}{5} \left[\frac{s-1}{(s-1)^2 + 2} \right] - \frac{1 \times 3/2}{(s-1)^2 + 2} \right] - \frac{3}{2} \left[\frac{2}{(s-1)^2 + 2} \right]$$

$$= L^{-1} \left[\frac{1/5}{s-2} + \frac{9}{5} \left[\frac{s-1}{(s-1)^2 + 2} \right] + \frac{1}{2} \left[\frac{2}{(s-1)^2 + 2} \right] \right]$$

$$= \frac{3}{2} \left[\frac{3}{(s-1)^2 + 2} \right]$$

$$= \frac{1}{5} e^{2t} + \frac{9}{5} \left[e^t \cos 2t + \frac{1}{2} e^t \sin 2t \right] - \frac{3}{2} \left[e^t \sin 2t \right]$$

$$5 \frac{d^2 y}{dt^2} = 6 \frac{dy}{dt} + 8y = e^{3t}$$

$$\text{at } t=0 \quad y=0 \quad y' = 2$$

$$y'' = 6y' + 8y = e^{3t}$$

$$L[y'(t)] = s^2 y(t) - sy(0) - y'(0)$$

$$L[y''(t)] = sy(t) - y(0)$$

$$L[y(t)] = y(t)$$

$$L[e^{3t}] = \frac{1}{s-3}$$

$$= s^2 y(t) - sy(0) - y'(0) - 6(sy(t) - y(0)) + 8y(t) = \frac{1}{s-3}$$

$$2(s^2 - 6s + 8)y(t) + (-5 + 6)y(0) - y'(0) = \frac{1}{s-3}$$

$$(s^2 - 6s + 8)y(t) + (-3 + 6) \cdot 0 - 2 = \frac{1}{s-3}$$

$$(s^2 - 6s + 8)y(t) = \frac{1}{s-3} + \frac{2}{1}$$

$$\frac{1 + 2(s-3)}{s-3} = \frac{1 + 2s - 6}{s-3} = \frac{-5 + 2s}{s-3}$$

$$y(t) = \frac{-5 + 2s}{s-3} \times \frac{1}{s^2 - 6s + 8}$$

$$= \frac{-5 + 2s}{(s-3)(s-4)(s-2)} = \frac{A}{s-3} + \frac{B}{s-4} + \frac{C}{s-2}$$

$$2s - 5 = A(s-4)(s-2) + B(s-3)(s-2) + C(s-3)$$

$$\text{When } s = 4$$

$$2(4) - 5 = A(4-4)(4-2) + B(4-3)(4-2) + C$$

$$3 = 2B + C$$

$$3 = 2B$$

$$B = \frac{3}{2}$$

when $s = 2$

$$2(2) - 5 = A(2-4)(2-2) + B(2-3)(2-2) + C(2-3)$$

$$(2-4)$$

$$4 - 5 = 2C$$

$$-1 = 2C$$

$$C = -\frac{1}{2}$$

when $s = 3$

$$2(3) - 5 = A(3-4)(3-2) + B(3-3)(3-2) + C(3-3)$$

$$(3-4) \therefore 1 = -A$$

$$A = -1$$

$$= \frac{-1}{s-3} + \frac{3/2}{s-4} + \frac{-1/2}{s-2}$$

$$= \mathcal{L}^{-1} \left[\frac{-1}{s-3} + \frac{3/2}{s-4} - \frac{1/2}{s-2} \right]$$

$$= -e^{3t} + \frac{3}{2} e^{4t} - \frac{1}{2} e^{2t}$$

$$= \frac{3}{2} e^{4t} - e^{3t} - \frac{1}{2} e^{2t}$$